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Number of Questions: 45
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Q 1-15 Fill in the blanks with suitable word given at the

Time Allowed: 45 Minutes
Negative Marking: Yes

If you work at a business where managers fig
you _ Ql__ your company a fortune in t
probably don't know about. The technology I 2

neet on a regular basis,
h logy that you

Companies are spending Q3 sending manage

executives and also other managers. This is an exi
consider the out of pocket cos
of those meetings as well.
waiting in lines for ren
on business matters ha

et as part of their
internet while
that if one pe person _ Q12
3__ to their own schedule.

The other 1 ! )14_" o If youneed to Q15 emergency meeting to
respond to hat opportunity without having to book a
bunch of last mir
Q1

A) should save

B) have to save

C) could save
D) are to save

Q2

A) with using
B) by using
C) for using
D} and using

Q3
A) aransom
B) a fortune
C) a lifetime
D) an eternity

(2o on to the next page)
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B) Unfortunately
C) Not only
D) Therefore

Qs
A) then vou

B) when you
C) if you

Ql0

Qi1

(go on to the next page)
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Q12

A) wasn't able
B) hasn’t able
C) can’t able
D) won’t able

Q13
A) because
B) according
C) however
D) therefore

uld have helped him out.

Q1711 their cat while they are away on holiday.

A) be looking info
B) be looking at

C) be looking afier
D) be looking over

Q18 In the late 1970s ard early 1980’s, the United States developed the reusable space shuitle
1o space cheaper and easier.

A) to make access

B) and making access

C) which made accessible
D) and made acczssible

(go on to the next page)
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A) are than any other animal

B) than is any other animal

C) any other animal is

D) and any other animal is
Q20 more thar 65,000 described species of p
A) Being that there are
B) There being
C) Are there

available the riches of the soil for

Q24 to the united states House of Re
1815,

resentatives in 1791, Nathaniel Macon remained in office until

A) Election

B) Why he was elected
C) Elected

D) Who was elected

Q25 The universe is estimated __between 10 billion and 20 billion years old.
A) being
B} tobe

C) which is
D) is

0 on to the n age
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Q 26-35 Select the best option

A)
B) excited

C) depressed
D) dissatisfied

Q27 In Sweden, public

D) volubl‘e

Q30 The aim of the Ameri e
A) validate
B) inaugurate
C) emancipate
D) liquidate
Q31 The youthscame ________ insolently into the room.

A) dragging
B) slouching
C) driving
D) twiddling
Q32 The judge imposex! a light sentence in view of the circumstances.

A) unfair

B) extensive
C) extenuating
D) qualifying

(go on to the next page )
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BY CROSSING THE PONDING LETTER
PART I - ENGLISGH M.C.Q)°

Q33 Five readers the correct solution to our regent.ce

A) communicated
B) qualified

C) submitted

D) subscribed

Q34 Many local authorities realize there is a need to
housing programmes.
A) assistance
B) conditions
D) provision
Q35 The government's ey

gz the. physical of soil by water and wind, but rather as the
deterioration of 2 of the hich man and his crops and livestock have to
- najor climatic change in historic times to explain
this detmnranon,wm 1 roding ﬁfthewmleuwrunmemhasbemdue primarily to &
thoughtless destruction of E
and below the surface, geners
to erosive action of wind and ra

is has led to deterioration of the microclimate above
 of a general drying out of the soil which has exposed it
h'intensity or frequency, and to the loss of organic matter in
the soil, thus reducing its capacity te erosion by conserving the water that falls on the surface, If
everything possible is done within the fofal environment to conserve the naturally planted or cultivated
vegetation, this will also ensure optimal conservation of soil and water.

Q36 It is argued in the passage that the impoverishment of the world's habitat .......... .

A) is first and foremost due to man's m'esponsahlc abuse of the vegetable cover of the earth
B) is largely due to gradual changes in climate over long years

C) became inevitable as soon as agricultural and animal husbandry developed

D} cannot be reraedied

Q37 The definition of erosion given in this passage ............ .
A) is a strictly regional one
B) disregards man's role in it

C) concentrates on flooding
D) isa broad onz

(go on to the next page)
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EART [- ENGLISGHM.CO'S

Q38 It is pointed out in the passage that the loss of orgar er in the s0il ...
A) led to the destruction of the world's vegetat

B) isa direct result of insufficient rain
C) is an irreversible process
D) has made the soil more susceptiblé to erosion

There was in increase of about 10% in the inve irrigation
quarrying, public services and transport; even
from the other sectors mentioned. A 16-17%
investment in business p:cemm:s i

g standards was the rapid
ices of all kinds, which
e goods demonstrated the
eased purchase of automobiles

jeing approached for items like the

Je of the country were

Q40 According to the author the tr ards a rapid rise in consumption is "undesirable" as:
A) here was an increase in the expenditure on frills and luxuries

B) the people were affluent

C) there was a rise in the standard of living

D) people were saving less

Q41 The area, which saw the greatest expenditure of investment funds was

A) The public sector

B) Business premises

C) Housing construction

D) A field which cannot be determined

The Food and Drug Administration has formulated certain severe restrictions regarding the use of
antibiotics, which are used to promote the health and growth of meat animals. Though the different types
of medicines mixed with the fodder of the animals kills many microorganisms, it also encourages the
appearance of bacterial strains, which are resistant to anti-infective drugs.

(go on to the next page)
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TN

It has already been observed that penicillin and the tetrag ; :
they once used to be. This resistance to drugs is due 1o tiny circlets of genes, called
plasmids, which are transferable between differe @i These plasmids are also one of
the two kinds of vehiclzs on which molecular orming gene transplant
Expﬁﬁmmts‘ E}&Eﬁﬂg EUidClmﬂ:S also forbid genes for resistance fo
antibiotics, in the laboratories. Though cong 2

es that those who favor the stiffening of
restrictions on gene u‘m;planr :
A) Approve and aid with any plasmids except those, which bear genes for antibiotic
resistance.
B) Inguire regarling the addition of anti-infective drugs to livestock feeds
C) Oppose the using of penicillin and tetracyclines in order 10 kill microorganisms
D) Agree to the development of meatier live-stock through the use of antibiotics

(Stop. Do not turn this page. Wait for the invigilator’s signal.)
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Number of Questions: 50 Time Allowed: 75 Minutes

Questions on Page Numbers: 9 To 14 Negative Marking: Yes
46. Amongst the teaching staff of ABC Universi
tgacl'_le:s three seventh are not marriedZIFEE
number of teachers is
{A) 98 (8} 343 {c)

en is'S to 2. Amongst the women
en teachers is 56 then the total

47. A team of eleven spies were assigned

. n as their identity
mdas For telephnnlc contact they | have o nidi

9z = 10. One of

same road towards each other.
that of the other car that also
minutes, What was the speed of

A (midpoint of (2, 3) and (-8, 15)) and point B
B
=9-2+ (D) y=9-16(x +3)

2

18,0]

52, The shaded region in the figure above is represented by
(A) x+y<3.y<55x—Ty<15 Blx+y<3y<550— ?}'515
() x+y=23,y<55¢—Ty=<15 [Dx+y=3p=55xr-T7r<15

(go on to the next page)
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ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
Y CROSSING TH! \RESPONDING LE
PART Il - s M.C.OQ"

Scores

53. The table above shows the marks obtained by students in a mathematics course. The megian of the
marks scored exceeds the mean of the marks sco
(A) 3.89 (Bi 11.06 C) 0.92

54. A cube with length
#-axis at 3, The li

B0. Two identical rectang
rectangular soll
solid to that of one.
{A] 5:2 (B}

O3 X 4 X 5 are joined together so that the new
The ratio of the lengths of the diagonals of the new

(D) None of these

61. If the perimeter of a rectangle is 160
must be the other sid
(A) ane-third of (B} half of

meters and its area is 1200 square meter, then one of its sides

(C) double (D) one-tenth of

—1+03 e Tt TP h
62. If @ = ——= then =

. 10 T
(A) 0.1 (8] 0 €y -1 (D) 1

63. At least one of the following lines is perpendicular to the line 3x — 12y = 12,
A} dx —y=—1 (B) 4x+y=-1 € —4x+y=-1 (D)3x+12y=0

(go on to the next page)
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ALL ANSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
BY CROSSING THE CORRESPONDING LETTER
PART Il - Mathematics M.C.Q'S

8 3
64. The triangles ABC and BD
indicated. The area of the

F4yi=12and x? -yt =4

69. IFa
{A} 4

Shen 1 2) +F(-1 = ___

1, 8] i8, o)

70. In the figure above K represents the set of all paints in the shaded region. The area of this shaded region
that lies below the line 4x + 3y = 221is

(A) 12 (3) 24 () 18 (D) &
714 f(x) = 2 then £ (x) =
=1 x#l =1 1
(&) 4 (3) = i€ 705 ) s
a 4 g a 2d 3g
72. ifdet(A) = Ib e hlthen|c 2f 3i|=
e Ib 2e 3h .
(A) 2det(A) (B) 3!det(A) (C) -3ldet(A) (D) None of these

73. Which of the following functions satisfy [ (x) > 1 for all real values of x7
(A) flxy=x*+2  (B) f(x)=2stnx—2 (€} flx)=x*—-2 (D) flx) =|x+2|

(go on to the next page)
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ALL AMSWERS MUST BE GIVEN ON THE COMPUTERIZED ANSWER SHEET
Y CR THE Ct )ONDING LETTER
~ PART Il - Mathematics M.C.O'S

74. Given that f(x) = x—;—“-ﬁﬂ then lim,.._y f(x) =

(A) o= (B} indeterminate
75. An algorithm to get a good estimate of/A2: = 0,1,2.3,..... Starting this

algorithm with x, = 1 the value of x5
(A) 1.414222 (B} 1.414216 (C} 1.414

76. In order that the system of equations ax + 2
[A) @=b (B) a # —6

_ Given that 4 < |§a -5

jed in it. The area of the shaded

torage tanks with a new tank. The old tanks are each 16 feet
8 oither a radius of 20 feet. The new tank is also of the same
red to be the same as the sum of the volumes of the two
1 E .

. A company is replaging
high. One has the radius
height. If the volume of the |
old tanks the radius of the new tan|
(A) 20feet  (B) 25 feet

(D) 35 feet

81. A ball thrown vertically upwards reaches a maximum height of 100 meters. In the absence of wind and
any air friction it comes down vertically and bounces back to a height one fifth of the previous height
attained. The distance travelled by the ball when it hits the ground for the 5" time is
(A) 240m (B) 250m (C) 249.92m (D) Mone of these

82. In triangular park trees are planted in rows such that the first row has 4 trees and every successive row
has two more trees. If there are 15 such rows of trees the total number of trees in the park are

{A) 300 (B} 32 (C) 270 (D) None of these

(go on to the next page)
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rs of its vehicles. A standard delivery
per hour up to a maximum of $450,
than 30 hours (but not too much less). For
increase applies to fraction of an hour also).
at shall be his total wages?

ne of these ‘ .

89. A colony of
population should excee
(A} 12.5 million (B) 12.4 millia

anyof 1.56 million that doubles in every day. In 3 days the )
5 million (D) 20 million |
90. The Airport Taxi service charges Rs 300 plus Rs 10 for every half a kilometer travelled. A passenger

travelled k kilometers and had to pay Rs G
(A} 300+10k (B) 300+5k (C) 300+20k (D) 300-20k

91. One of the following points lies inside the region enclosed by 55-'?:+ (y +4)* = 25.
(A) (0,0) (8) (-1,-1) (€) (2,-35) (D) (3,1)

92. Ift = log,(m™) thent = 0 If _
(A\m=1 (B)m=0 (Om=t (D)m=n

0 1
1 S|thend™=___

Gul b &
(A) F} 1 f] (B) |0 [1 J (o] [f 1 0] {D) Does not exist
oo : '

. ' (go on to the next page)
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93, IfA=|0
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94. _tf-;,q pi-and.r- 5 then 14—33. o
(A) 15 (8) 3 (c) -3

95, Four coins are tossed at the same time, What is the
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Number of Questions: 40
Questions on Page Numbers: 15 To 25

96. CPU does not perform the operation
a. data transfer
b. logic operation
c. arithmetic operation
d. all of above

Time Allowed: 50 Minutes
Negative Marking: Yes

- 97. Dynamic memory allocation occurs
a. at compilation time
b. during execution of

a structure, but tf

rms some other service on a

support the sys
a. data model.
b. relation design.
c. implementation.
d. data view.

101. The output of a three input (A, B, and C) AND gate is connected to a two input OR gate.
A second input to the OR gate is labeled D. The Boolean expression representing this logic
circuit is: - '

a. X=ABC+D
b.X=(A+B+C)+D
¢. X = (ABC)D
d.X=(A+B+C)D

102, One major difference hetween a queue and a stack is:
a. Queues require linked lists, but stacks do not.
b. Stacks require linked lists, but queues do not.
c. Queues use two ends of the structure; stacks use only one.
d. Stacks use two ends of the structure, queues use only one.

fea on to the next nace)
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SWE : ECOM ' A SHEET
BY G OMNDING 3
- PART Il - Specialization M.C.Q'S

103, In predicate logic, the symbols ¥ and 3 are ca

a. Tautology

b. Contradiction

c. Quantifiers

d. Deduction
104, A variable P is called pointer if

a. P contains the address of an element in €
b. P points to the address of first element
c. P can store only memory addresses

d. P contain the DATA and the addre

me, Instructor)

A processor needs
a. test the interrupt system of
b. implement co-routines

c. obtain system services which need execution of privileged instructions
d. return from subroutine

107. Write the following statement in first-order predicate logic: "Everyone likes cheese".
a. Likes(everyone, cheese)
b. Everyone - Likes(Cheese)
c. (¥x) (Person(x) = Likes(x, Cheese))
d. Everyone = Cheese(Likes)

108. The situation where the processor spends most of its time swapping process pieces
rather than executing instructions is called:
a. Paging
b. Thrashing
¢. The Principle of Locality d. None of the above

(eo on to the next naca)
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109. The Boolean expression X = A+ B+C s logical
a. NOR gate
b. NAND gate
c. AND gate
d. OR gate

jequivalent to what single gate?

110. When different sets of data are appearing on the sz
the data is:

a. Frequency-shifted mulﬂplexed
b. Frequencv-shffmd =multiplexed

d. Time-division demull

113. Which of the following data str e can't store the non-homogeneous data elements?
a. Arrays
b. Records
c. Pointers
d. None

-

114, A computer program that co
time is called a/an
a. interpreter
b. simulator
¢ compiler
d. commander

verts an entire program into machine language at one

115, Which normal form was developed in order to eliminate multivalued dependencies?
a. BCNF
b. 4NF
c. SNF
d. 3NF

(go on to the next page)
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What will be the output of the following code:

int main()}{
int a=4,b=5;
printf{a, b};

printit(int b, int a){
printf("%d %d", a, b);
{
int b=1;
printf("%d %d",.a; bl

In Object Oriented Program
inheritance relationship

'has-a’ relationship

‘is-a’ relationship
assaciation relationship
modification relationship

What is the output of the following program:

public class ParamTest
{
public static void foo (int x, double y)
{
x=3;
y=2.5
} ;

ich of the following relationship is known as

(go on to the next page)



public static void main(String[], args)
{

inta=7;
double b =6.5;
foo(a, b}
System.out.printin(a

Arif Nida Kashif Shamim Lubna
Arif Kashif Nida Shamim Lubna

122.  What printed by the following program segment?

‘String s1 = "Racecar";
String s2 = "car";
System.out.printn(s1.substring(0,3) + s2.substring(0});

(=R B 2

Raccar
Racc
Racecar
Raceca

b St S e B T R | AT e T A Y
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123, Whatis printed by executing the following code segme

class Person
{ _
public Person()
{
System.out.prif
}
}
class Student extends Person

Among th'efbiiowlna,_ which

A. int[1[] a = new
B. int[l[] a = 151 17 ;
far(int i=0; i<a.length; i++) alil
€. int[l[] a = new int[5][];
for(int i=0; i<a.length; i++) ali]
D. int[l[] a = new int[s][];

for(int i=0; i<a.length; i++) alil

125. Consider the following cade fragment

public int mystery(int a, int b)
{
if (b==1)
return a;
elae
return a + mystery{a,b-1);

table with the minimum amount of memory used?

new int[i];

= new int[i+1];

new int[i+2];

{eo on to the next pacel



What is the value of mystery(2,3)?

gnNneer
© o s N

126.  Ifthe instance variables of the Employee class
statements is most likely to be in the constructor of thi:

private String name;

for {inta=0; a < n; a++)
{

for(int b= 0; b< n; b++)
{

X+

1

}
return x;

}
Which of the following is execution equivalent to the body of doSomething(n)?
A, return 2*n;
. return n*(n-1);

B.
C. returnn’
D. return n*(n+1);

leo on to the next naceal
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139.

What will be the output of the following program.

public class Mystery
{
public static void strangeMeth,
{
x+=y;
y*=x
Systemn.out.println( x+“ "+

m subsequently produce?

Jf some -i for internal structures of doSomething
I

count -+4;
}

public static void main(String(] args)
{
int count=0; _ : .
System,out.printin(“How many iterations?");
intn = 0.readint(); // read user input
for{inti=1;i<=n; i++)
{
doSomething();
System.out.printin{count);

. (go on to the next page)
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What value will be ret

=

132.  Consider the method f1:
public int Fi{int v}
{

if{y==1]]y==3)
returny;
else
return y*f1(y-1);
}

Assuming no possibility of integer overflow, what will be the value of z after execution of following
statement?

int z = f1(f1(3) + f1(4))
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A, (151)/(21)
B. 31+4!
C. (70
D. (31+41)1

133.  What is the answer of evaluating the follo!
118810 || 1))
A True

B. False
C. System Error

A Onlyt

B. The! sthat are mirror images of each other.

C. Thes o alves that are mirror images of each other.
D. The left h2 of the right half of the array.

135.  Consider the follc

public class Pet
{ public Pet()
Linhlic_'_\ruld animal()
{ System.out.printin{“Some Animals”);
]puhuc void story{)
i System.out.printin(“are good pets”);
public void sentence()
: animal();
} story();

T e ey ¥ [ et e e Ry
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public class Cat extends Pet
{
public Cat()

public void animal()
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